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a” x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0”� 12 ”strong=”558|������������
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strong=”1121|��/���� a” x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0.0”
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x-morph=”OSHM:HC/Np” x-cantillationLevel=”1” ”strong=”3359|����������
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x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”7803|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”c/1260|������/��
x-morph=”OSHM:HC/Np” strong=”1121|���/���� a” x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0.1.0” ”strong=”c/8480|������/�� x-morph=”OSHM:HC/Np”
strong=”1121|��/����� a” x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0.1”
”strong=”c/497|����������/�� x-morph=”OSHM:HC/Np” strong=”1121|��/����
a” x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0.0” ”strong=”c/8480|������/��
x-morph=”OSHM:HC/Np” strong=”1121|��/����� a” x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0”� 21 ”strong=”c/2066|������/�� x-morph=”OSHM:HC/Np”
strong=”1121|��/����� a” x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1.0.0”
”strong=”c/7803|����������/�� x-morph=”OSHM:HC/Np” strong=”1121|��/�����
a” x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1.0” ”strong=”c/5827|������/��
x-morph=”OSHM:HC/Np” ”strong=”c/496|��������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”1” ”strong=”c/2026|�/��������/�� x-morph=”OSHM:HC/Vqp3cp/Sp3mp”
x-cantillationLevel=”0.2.1” ”strong=”376|�������� x-morph=”OSHM:HNcmpc”�����|strong=”1661”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.2.0” ”strong=”d/3205|�����������/��
x-morph=”OSHM:HTd/VNrmpa” ”strong=”b/776|������/��� x-morph=”OSHM:HRd/Ncbsa”
x-cantillationLevel=”0.2” strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”3381|��������
x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”0.1” ”strong=”l/3947|������/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0.0” ”strong=”853|��� x-
morph=”OSHM:HTo”����/��������|strong=”4735” x-morph=”OSHM:HNcmsc/Sp3mp”
x-cantillationLevel=”0”� 22 ”strong=”c/56|������������/�� x-morph=”OSHM:HC/Vtw3ms”
x-cantillationLevel=”1.0.0” ”strong=”669|���������� x-morph=”OSHM:HNp”
”strong=”1|����/����� x-morph=”OSHM:HNcmsc/Sp3mp” x-cantillationLevel=”1.0”
”strong=”3117|������� x-morph=”OSHM:HNcmpa” strong=”7227|��������
a” x-morph=”OSHM:HAampa” x-cantillationLevel=”1” ”strong=”c/935|���������/��
x-morph=”OSHM:HC/Vqw3mp” ”strong=”251|�/������ x-morph=”OSHM:HNcmpc/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”l/5162|��/������/�� x-morph=”OSHM:HR/Vpc/Sp3ms”
x-cantillationLevel=”0”� 23 ”strong=”c/935|�������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.1.0” ”strong=”413|��� x-morph=”OSHM:HR”��/���������|strong=”802”
x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”1.1” ”strong=”c/2029|�������/��
x-morph=”OSHM:HC/Vqw3fs” x-cantillationLevel=”1.0” ”strong=”c/3205|�������/��
x-morph=”OSHM:HC/Vqw3fs” strong=”1121|����� a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”c/7121|���������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”853|��� x-morph=”OSHM:HTo”���/�����|strong=”8034” x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0.1.0” ”strong=”1283|���������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” strong=”3588|����� a” x-morph=”OSHM:HC” strong=”b/7451|������/��
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c” x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”0.0” ”strong=”1961|��������
x-morph=”OSHM:HVqp3fs” strong=”b/1004|��/�����/��� b” x-morph=”OSHM:HR/Ncmsc/Sp3ms”
x-cantillationLevel=”0”� 24 ”strong=”c/1323|��/�����/�� x-morph=”OSHM:HC/Ncfsc/Sp3ms”
”strong=”7609|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”c/1129|�������/�� x-morph=”OSHM:HC/Vqw3fs” ”strong=”853|���
x-morph=”OSHM:HTo”������|strong=”1032+” x-morph=”OSHM:HNp”���������|strong=”1032”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0.0” ”strong=”d/8481|�����������/��
x-morph=”OSHM:HTd/Aamsa” x-cantillationLevel=”1.0” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”���������/���|strong=”d/5945 a” x-morph=”OSHM:HTd/Aamsa”
x-cantillationLevel=”1” ”strong=”c/853|����/�� x-morph=”OSHM:HC/To”
x-cantillationLevel=”0.0” ”+strong=”242|������� x-morph=”OSHM:HNp”
”strong=”242|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
25 ”strong=”c/7506|������/�� x-morph=”OSHM:HC/Np” strong=”1121|��/�����
a” x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0.0.1” ”strong=”c/7566|�������/��
x-morph=”OSHM:HC/Np” ”strong=”c/8520|������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”0.0.0” strong=”1121|��/����� a” x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”c/8465|������/�� x-morph=”OSHM:HC/Np”
strong=”1121|��/����� a” x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0”�
26 ”strong=”3936|��������� x-morph=”OSHM:HNp” strong=”1121|��/�����
a” x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0.0.0” ”strong=”5989|�����������
x-morph=”OSHM:HNp” strong=”1121|��/����� a” x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”476|������������ x-morph=”OSHM:HNp”
strong=”1121|��/����� a” x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0”�
27 ”strong=”5126|����� x-morph=”OSHM:HNp” strong=”1121|��/�����
a” x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0.0” ”strong=”3091|�����������
x-morph=”OSHM:HNp” strong=”1121|��/����� a” x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0”� 28 ”strong=”c/272|��/���������/�� x-morph=”OSHM:HC/Ncfsc/Sp3mp”
x-cantillationLevel=”1.1.0” ”strong=”c/4186|�/������������/�� x-morph=”OSHM:HC/Ncmpc/Sp3mp”
x-cantillationLevel=”1.1” ”+strong=”1008|������ x-morph=”OSHM:HNp”�����|strong=”1008”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”c/1323|��/��������/��
x-morph=”OSHM:HC/Ncfpc/Sp3fs” x-cantillationLevel=”1” ”strong=”c/l/4217|���������/��/��
x-morph=”OSHM:HC/Rd/Ncmsa” ”strong=”5295|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.2” ”strong=”c/l/4628|���������/���/�� x-morph=”OSHM:HC/Rd/Ncmsa”
x-cantillationLevel=”0.1.1” ”strong=”1507|������� x-morph=”OSHM:HNp”
”strong=”c/1323|���/��������/�� x-morph=”OSHM:HC/Ncfpc/Sp3fs”
x-cantillationLevel=”0.1.0” ”strong=”c/7927|�������/�� x-morph=”OSHM:HC/Np”
”strong=”c/1323|��/��������/�� x-morph=”OSHM:HC/Ncfpc/Sp3fs” x-
cantillationLevel=”0.1” ”strong=”5704|��� x-morph=”OSHM:HR”��������|strong=”5804”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”c/1323|��/��������/��
x-morph=”OSHM:HC/Ncfpc/Sp3fs” x-cantillationLevel=”0”� 29 strong=”c/5921|���/��
a” x-morph=”OSHM:HC/R”�������|strong=”3027” x-morph=”OSHM:HNcbdc”
strong=”1121|����� a” x-morph=”OSHM:HNcmpc”�����������|strong=”4519”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1” ”+strong=”1052|�����
x-morph=”OSHM:HNp”��������|strong=”1052” x-morph=”OSHM:HNp”
”strong=”c/1323|���/��������/�� x-morph=”OSHM:HC/Ncfpc/Sp3fs”
x-cantillationLevel=”1.1.0” ”strong=”8590|���������� x-morph=”OSHM:HNp”
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”strong=”c/1323|��/��������/�� x-morph=”OSHM:HC/Ncfpc/Sp3fs” x-
cantillationLevel=”1.1” ”strong=”4023|��������� x-morph=”OSHM:HNp”
”strong=”c/1323|��/���������/�� x-morph=”OSHM:HC/Ncfpc/Sp3fs”
x-cantillationLevel=”1.0” ”strong=”1756|������ x-morph=”OSHM:HNp”
”strong=”c/1323|��/���������/�� x-morph=”OSHM:HC/Ncfpc/Sp3fs”
x-cantillationLevel=”1” ”strong=”b/428|��������/��� x-morph=”OSHM:HR/Pdxcp”
x-cantillationLevel=”0.1.0” ”strong=”3427|��������� x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”0.1” strong=”1121|������� a” x-morph=”OSHM:HNcmpc”
”strong=”3130|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
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x-morph=”OSHM:HNp” x-cantillationLevel=”0”� � 30 strong=”1121|�������
a” x-morph=”OSHM:HNcmpc” ”strong=”836|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0.1” ”strong=”3232|�������� x-morph=”OSHM:HNp”
”strong=”c/3438|���������/�� x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.0.0”
”strong=”c/3440|���������/�� x-morph=”OSHM:HC/Np” ”strong=”c/1283|���������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.0” ”strong=”c/8294|�������/��
x-morph=”OSHM:HC/Np” ”strong=”269|�/�������� x-morph=”OSHM:HNcfsc/Sp3mp”
x-cantillationLevel=”0”� 31 strong=”c/1121|������/�� a” x-morph=”OSHM:HC/Ncmpc”
”strong=”1283|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”2268|������ x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”c/4439|������������/�� x-morph=”OSHM:HC/Np” x-cantillationLevel=”1”
”strong=”1931|����� x-morph=”OSHM:HPp3ms” x-cantillationLevel=”0.0”
”strong=”1|������ x-morph=”OSHM:HNcmsc” ”strong=”1269|����� x-
morph=”OSHM:HNp” x-wType=”x-ketiv” 98 � 32 ”strong=”c/2268|�������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”1.1.0” ”strong=”3205|��������
x-morph=”OSHM:HVhp3ms” ”strong=”853|��� x-morph=”OSHM:HTo”���������|strong=”3310”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”���������|strong=”7763” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”��������|strong=”2369”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”c/853|����/��
x-morph=”OSHM:HC/To” x-cantillationLevel=”0.0” ”strong=”7774|��������
x-morph=”OSHM:HNp” ”strong=”269|�/�������� x-morph=”OSHM:HNcfsc/Sp3mp”
x-cantillationLevel=”0”� 33 strong=”c/1121|������/�� a” x-morph=”OSHM:HC/Ncmpc”
”strong=”3310|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”6457|�������� x-morph=”OSHM:HNp” ”strong=”c/1118|��������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”1.0” ”strong=”c/6220|���������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”1” ”strong=”428|�������
x-morph=”OSHM:HPdxcp” x-cantillationLevel=”0.0” strong=”1121|�������
a” x-morph=”OSHM:HNcmpc” ”strong=”3310|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 34 strong=”c/1121|������/�� a” x-morph=”OSHM:HC/Ncmpc”
x-cantillationLevel=”1.0” ”strong=”8106|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”277|������ x-morph=”OSHM:HNp” ”strong=”c/7303|�����/�
x-morph=”OSHM:HC/Np” x-wType=”x-ketiv” 99 ”strong=”3160|���� x-

98+ ”strong=”1269|��������������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”
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morph=”OSHM:HNp” x-wType=”x-ketiv” 100 ”strong=”c/758|������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0”� 35 strong=”c/1121|���/��
a” x-morph=”OSHM:HC/Ncmsc”�������|strong=”1987” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”251|�/������ x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”1” ”strong=”6690|������� x-morph=”OSHM:HNp”
”strong=”c/3234|��������/�� x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.0”
”strong=”c/8028|��������/�� x-morph=”OSHM:HC/Np” ”strong=”c/6000|������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0”� 36 strong=”1121|�������
a” x-morph=”OSHM:HNcmpc” x-cantillationLevel=”1.0” ”strong=”6690|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”5477|������ x-
morph=”OSHM:HNp” ”strong=”c/2774|����������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”0.0.0” strong=”c/7777|��������/�� b” x-morph=”OSHM:HC/Np”
x-cantillationLevel=”0.0” ”strong=”c/1275|������/�� x-morph=”OSHM:HC/Np”
”strong=”c/3236|��������/�� x-morph=”OSHM:HC/Np” x-cantillationLevel=”0”�
37 ”strong=”1221|������� x-morph=”OSHM:HNp” ”strong=”c/1936|�����/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.0.1” ”strong=”c/8037|��������/��
x-morph=”OSHM:HC/Np” ”strong=”c/8030|����������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”0.0.0” ”strong=”c/3506|��������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”0.0” ”strong=”c/878|��������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”0”� 38 strong=”c/1121|������/�� a” x-morph=”OSHM:HC/Ncmpc”
x-cantillationLevel=”1.0” ”strong=”3500|������ x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”3312|��������� x-morph=”OSHM:HNp”
”strong=”c/6462|���������/�� x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.0”
”strong=”c/690|������/�� x-morph=”OSHM:HC/Np” x-cantillationLevel=”0”�
39 strong=”c/1121|������/�� a” x-morph=”OSHM:HC/Ncmpc” x-cantillationLevel=”1.0”
”strong=”5925|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”733|������ x-morph=”OSHM:HNp” ”strong=”c/2592|����������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.0” ”strong=”c/7525|��������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0”� 40 ”strong=”3605|����
x-morph=”OSHM:HNcmsc”��������|strong=”428” x-morph=”OSHM:HPdxcp”
strong=”1121|����� a” x-morph=”OSHM:HNcmpc”��������|strong=”836”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0.0” strong=”7218|��������
a” x-morph=”OSHM:HNcmpc” strong=”1004|���� b” x-morph=”OSHM:HNcmsc”�������/���|strong=”d/1”
x-morph=”OSHM:HTd/Ncmpa” ”strong=”1305|����������� x-morph=”OSHM:HVqsmpa”
x-cantillationLevel=”1.1.0” ”strong=”1368|����������� x-morph=”OSHM:HAampc”
”strong=”2428|��������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.1”
strong=”7218|�������� a” x-morph=”OSHM:HNcmpc” x-cantillationLevel=”1.0”
strong=”d/5387|������������/�� a” x-morph=”OSHM:HTd/Ncmpa” x-
cantillationLevel=”1” ”strong=”c/3187|�/������������/�� x-morph=”OSHM:HC/Vtc/Sp3mp”
strong=”b/6635|�������/��� a” x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”0.2.0”
”strong=”b/4421|�����������/��� x-morph=”OSHM:HRd/Ncfsa” x-cantillationLevel=”0.2”
”strong=”4557|�/���������� x-morph=”OSHM:HNcmsc/Sp3mp” ”strong=”376|����������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.1” ”strong=”6242|����������
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x-morph=”OSHM:HAcbpa” ”strong=”c/8337|���������/�� x-morph=”OSHM:HC/Acmsa”
x-cantillationLevel=”0.0” ”strong=”505|������ x-morph=”OSHM:HAcbsa”
x-cantillationLevel=”0”� �8 ”strong=”c/1144|�����������/�� x-morph=”OSHM:HC/Np” x-
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a” x-morph=”OSHM:HNp” ”strong=”1060|��/������� x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”1” ”strong=”788|���������� x-morph=”OSHM:HNp”
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x-cantillationLevel=”0.0” ”strong=”d/7992|������������/�� x-morph=”OSHM:HTd/Aomsa”
x-cantillationLevel=”0”� 2 ”strong=”5119|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1.0” ”strong=”d/7243|���������/��� x-morph=”OSHM:HTd/Aomsa”
x-cantillationLevel=”0.1” ”strong=”c/7498|������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”0.0” ”strong=”d/2549|����������/�� x-morph=”OSHM:HTd/Aomsa”
x-cantillationLevel=”0”� � 3 ”strong=”c/1961|���������/�� x-morph=”OSHM:HC/Vqw3mp”
strong=”1121|������� a” x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.0”
strong=”l/1106|������/�� a” x-morph=”OSHM:HR/Np” x-cantillationLevel=”1”
”strong=”146|������� x-morph=”OSHM:HNp” ”strong=”c/1617|������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.0” ”strong=”c/31|����������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0”� 4 ”strong=”c/50|������������/��
x-morph=”OSHM:HC/Np” ”strong=”c/5283|��������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”0.0” ”strong=”c/265|��������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”0”� 5 ”strong=”c/1617|������/�� x-morph=”OSHM:HC/Np”
strong=”c/8197|����������/�� b” x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.0”
”strong=”c/2361|�������/�� x-morph=”OSHM:HC/Np” x-cantillationLevel=”0”�
6 ”strong=”c/428|�������/�� x-morph=”OSHM:HC/Pdxcp” x-cantillationLevel=”1.0”
strong=”1121|������� a” x-morph=”OSHM:HNcmpc” ”strong=”261|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”428|������� x-
morph=”OSHM:HPdxcp” ”strong=”1992|���� x-morph=”OSHM:HPp3mp”
x-cantillationLevel=”0.1.0.0” strong=”7218|�������� a” x-morph=”OSHM:HNcmpc”
”strong=”1|������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.1.0”
”strong=”l/3427|����������/�� x-morph=”OSHM:HR/Vqrmpc” ”strong=”1387|������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1” ”strong=”c/1540|�/���������/��
x-morph=”OSHM:HC/Vhw3mp/Sp3mp” x-cantillationLevel=”0.0” ”strong=”413|���
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strong=”859|������� d” x-morph=”OSHM:HPp2mp” ”strong=”c/251|����/�����/��
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x-morph=”OSHM:HR/Ti”������������/���|strong=”b/7223” x-morph=”OSHM:HRd/Aafsa”
x-cantillationLevel=”1.0” 155 A single word in the text has been divided for ex-
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x-morph=”OSHM:HC/Td/Ngmpa” x-cantillationLevel=”1” ”strong=”l/5927|���������/��
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a” x-morph=”OSHM:HC/R”��������|strong=”1121 a” x-morph=”OSHM:HNcmpc”
”strong=”4847|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
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x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.0.8” ”strong=”c/3268|������������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.0.0.7” ”strong=”c/8070|��������������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.0.0.6” ”strong=”c/3171|��������/��
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